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PS, QT are straight lines. Find a and b.
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P . Find ZDEF. 2. ABIGFIDC. ADIBC.
£BCD=75°.  ZBFG=130°.
ZGAD=55°.  Show that AG Il BF.

A If the angle sum of a polygonis 2160°,

find the number of sigies.
A EFGH is a thombus.
s, Find the value of x. FEG =58°. Find EAG.
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7 ' AB=BC; DE = 28 mm;
” GI =58 mm. Find EF and GH. 2
'A , \],3 } \c Find the value of x.
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AB Il DE, C is the mid-point of AE.
Prove that C is the mid-point of BD.
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ABCDisa parallelogram, '
AD = 12cm, CE=4cm, BF =17 cm- 7
()  Show that AABFIS similar to AECF. , {F
@) Find AB. ’ \
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1. Prove the A's ABC and ABD are similar and hence find the length
of AD if AB = 3cm and BC = 4cm.
(Hint: Note the triangles are right angled)
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2. Prove A's ADE and ABC are similar and find the
length of BC if DE = 5cm.
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AB=BC

» DE=EF (parallel lines i
EF = 28 mm cut equal intercepts) | B .D
 GH=HI ([paralle lines cut equal intercepts) “ e <
‘ %};f*“:”m n Bs Asc 0wk #BD
=28mm and GH=29mm L ABC = 4 gD ( )
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@ Parallel lines preserve the ratio of intercepts. ", C /7
e L hee = LB (e
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L AARcC I ADRA 9.264
X= —9—?= 14.4 cm cga\
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In AABC, ACDE
ACB=DCE [vertically opposite]
BAC=CED [altemnate, ABIIDE]
AC=CE [Cismid-pointof AE],
~.AABC = AEDC [AAS],
'BC = CD [corresponding sides of
congruent triangles],
C is the mid-point of BD.
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F FB =CFE [vertically opposite] B¢ pn 8 =-
D C4 B ABF =FCE [altemate, ABII CE], o
~. AABF Ill AECF. BC - 2
(b) AD=BC [opposite sides of a > 1
arallel
BC=12cm paraliclogram S.8e =2
CF=BC-BF s
=12-7=5cm =
AB_BF i S BC = 10
CE CF rresponding sides . Be = 0o
of similar triangl .
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— SOT = POQ [vertically opposite angles]
. a°=39° |
POQ+QOR +ROS =180° [angles on a straight line]
. 39°+(2b+45)°+b°=180° :

3b°+84°=180°

3b°=96°

b°=32°

a°=39° and b°=32°
ZADC+158°+ 78°+ 59°= 360°

ZADC = 65°
ZEDF =65° [vertically opposite ZADC]

£DEF +65°+48°=180° [angle sum of a triangle]
~. £DEF=67°

{angle sum of a quadrilateral]

ZABC=105° [co-interior to £BCD, ABIIDC]
ZABF = 50° [co-interior to £BFG, AB I|GF]
y BF = 55°
. ngA = 55° [altemnate to ZCBF, AD It BC]
.. ZBEA= £GAD .
£ AGIl BF (altemate angles are equal]

@ Angle sum = (2n—4) right angles
2160°= (2n-4)x90°
-, 2n-4=2160°+90°
=24
2n =28
n=14
the polygon has fourteen sides.
—
(;S ' X°+76%°+ x°+ 90°+ 90°= 360°
. 2x°+256°=360°
2x°=104°
x°=52°

[angle sum of exterior angles]
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b FEG =58

» FEH=116° [diagonals of a rhombus bisect the angles)

EAHG =180°~116° [co-interior to FEH, EF I HG)
= 64°




